DO NOT SCALE

290.0

IF IN DOUBT - ASK!
: i MAIN IR EMISSION 1S FROM
MODEL: VSL-246RC/C1 THE CURVED FACE (FRONT)
P/N: 51593 \ /
[ Q Q ]
A I_Ij ]
aonn Z @ \ /
b LI Fes =4 =
(qp)
‘ © PN
. P v N
pi —l ADHESIVE TAPE ON BACKSIDE
—— —— ' IR EMITTER
. )
\
VSL=246RC/CT R EMITTER CONNECTION
O /
OOOO O OO 1=
1O "0 0 O~ O IR EMITTER CONNECTION
o . 0000 00
& O0Co000
QQQQ 1r
————— =)
|
O g I L :
O i g \
B — AUDIO CONNECTION
| A T . 1. THE ADHESIVE TAPE ON THE BACK OF THE
AN ZaN Co1]|] ' EMITTER MAY BE USED TO FIX IT OVER THE
< < | ) R RECEIVER APERTURE OF THE TV.
: ALTHOUGH EMISSIONS FROM THE BACK OF
Q Q ”_ 1 OF THE EMITTER ARE WEAK. RECEPTION IS
S RELIABLE DUE TO THE CLOSE PROXIMITY.
- [ ! xSfUaEEﬁ\ESR NOTE THAT THE HAND HELD REMOTE MAY
o TV CONTROLS ————— “I[ S | STILL BE USED WITH THIS SITUATION, AS
& H THE EMITTER IS TRANSPARENT TO IR LIGHT.
Q H_ : 2. THE EMITTER CAN BE POSITIONED IN
i POWER CONNECTION IN FRONT OF, TO THE SIDE OR ABOVE
MUTE N , THE TV
i THE FRONT SIDE OF THE EMITTER MUST BE
O AT LEAST PARTIALLY IN VIEW OF THE TV'S
R RECEIVER APERTURE.

FOR MOST RELIABLE RESULTS, THE EMITTER
SHOULD BE PLACED WITHIN 200 mm OF
THE RECEIVER.

SJACQUES| | )

IF THE EMITTER IS ABLE TO BE POSITIONED
DIRECTLY IN FRONT OF AND FACING THE

TV, SUCCESSFUL OPERATION AT UP TO 0.5 m

IS POSSIBLE.
97.0
130.0
REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
0 |2015-10-22 | FIRST RELEASE LFB 0» J A( :QU ES o1 586 500 e @ 40t
1 |2017-07-05 | DIMENSION 145, SHT 2, CORRECTED TO BE 290. LFB Future Proof Communications | www.jacques.com.au info@jacques.com.au
2017-07-12 | DRAWING TITLE CHANGED. SPEAKER CORRECTED PICTORIALLY (SHOULDN'T BE LOW PROFILE). LFB
INSIDE CLEARANCE FOR FLUSH MOUNTING CHANGED FROM 60 mm TO 70 mm. VSL-246RC/C1 6 Btn Panel w/ TV Remote
3 |2017-07-13 | PCB634 w/ AUDIO CONNECTION FITTED TO PCB226, MINI-SLAVE. WIRING DIAGRAM (AUDIO TO CN1, PCB634), SHT 3, MODIFIED. LFB . -
2018-04-03 | 'DRILL PLAIN HOLES IF RIVETING' ADDED TO MOUNTING HOLE NOTE IN 'FLUSH MOUNTING INTO PANEL' VIEW, SHEET 2. LFB and Speaker Am P Installation Details
DRAWN: DATE: ADAPTED FROM: FILENAME:
5 |2019-10-31 | J1150 (POWER TO J15) SHOWN PLUGGED INTO PCB, SHEET 3. ISOMETRIC VIEW OF PANEL ADDED TO SHT 1. LFB
J0097 CHANGED TO J5142, SHEET 3. J5142 SHOWN FITTED TO IR EMITTER CABLE, SHEETS 1 & 3. LFB  2015-10-22 51520-INS | 51593-INS.dwg
NYLOC NUTS REMOVED FROM BELOW TWO 30 mm SPACERS THAT SUPPORTTHE EMITTER PCA. CHECKED: SATE. SCALE. SHEET: SI7E:
N.T.S. 1 of 3] Al
) APPROVED: DATE: DWG NO: REV:
(©)2019 Jacques Technologies PTY LTD 51593-INS | 5




FLUSH MOUNTING INTO FLAT PANEL

Recommended minimum

inside clearance from

mounting surface 70 mm
97 =

" FRONT PANEL
|
_l_

OUTLINE

:

I

cuTouT
(85 X 230) mm

125

125

SIX M4x25 S/S
SECURITY SCREWS

S

/,j% NI |

B

WEATHER SEALING
GASKET HW292

DRILL AND TAP SIX HOLES TO
M4 THREAD.
DRILL PLAIN HOLES [F RIVETING.

SURFACE WALL MOUNTING USING SWE-1/SWE-9 BACKBOX

130 80

80 WEATHER SEALING DEPTH
GASKET

FRONT PANEL
\

o o

(o)} <

N N [
’

SIX M4 x 25
S/S SECURITY ™ s
O\ /O \ SCREWS £ Ja <
FOUR SWE-1 \ /
BACKBOX MTG Jacques SWE—1 BACKBOX
HOLES 95 mm (130x290x80) mm

DO NOT SCALE

IF IN DOUBT - ASK!

270

FLUSH WALL MOUNTING USING FWE-1 BACKBOX

S/S SECURITY \\\~K§é?”/

SCREWS

=

110
1o
1] © °
ol T
]
) '
444 ‘
o) |
A
Rl
AN 3 b _
| FOUR FWE-1
BACKBOX MTG
HOLES 5 mm
SIX M4 x 25

/%

&

/%

/»@
- o
L

\

.

\

\

S|
-

e

80
WEATHER SEALING
GASKET o MIN- DEPTR
DRI 4-__'|_. 4 “
3ff7 RONT PANEL —+
“ OUTLINE FRONT PANEL ©
- OUTLINE ﬁ
O
SIX M4 x 25
S/S SECURITY
SCREWS ‘4;/ﬂ.qzd
025 HOLES
EITHER END

(©)2019 Jacques Technologies PTY LTD

REV DATE CHANGE DESCRIPTION BY (C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
2015-10-22 | FIRST RELEASE LFB 0» J A( :QU ES obe o aeab sac0 Qo
2017-07-05 | DIMENSION 145 CORRECTED TO BE 290. LFB Future Proof Communications | www.jacques.com.au info@jacques.com.au
2017-07-12 | DRAWING TITLE CHANGED. SPEAKER CORRECTED PICTORIALLY (SHOULDN'T BE LOW PROFILE). TITLE UPDATED. LFB
INSIDE CLEARANCE FOR FLUSH MOUNTING CHANGED FROM 60 mm TO 70 mm. VSL-246RC/C1 6 Btn Panel w/ TV Remote
3 |2017-07-13 | PCB634 w/ AUDIO CONNECTION FITTED TO PCB226, MINI-SLAVE. WIRING DIAGRAM (AUDIO TO CN1, PCB634), SHT 3, MODIFIED. LFB - -
4 |2018-04-03 | 'DRILL PLAIN HOLES IF RIVETING' ADDED TO MOUNTING HOLE NOTE IN 'FLUSH MOUNTING INTO PANEL' VIEW. LFB and Speaker Am P Installation Details
DRAWN: DATE: ADAPTED FROM: FILENAME:
5 |2019-10-31 | J1150 (POWER TO J15) SHOWN PLUGGED INTO PCB, SHEET 3. ISOMETRIC VIEW OF PANEL ADDED TO SHT 1. LFB
J0097 CHANGED TO J5142, SHEET 3. J5142 SHOWN FITTED TO IR EMITTER CABLE, SHEETS 1 & 3. LFB  2015-10-22 51520-INS | 51593-INS.dwg
NYLOC NUTS REMOVED FROM BELOW TWO 30 mm SPACERS THAT SUPPORTTHE EMITTER PCA. CHECKED: SATE. SCALE. SHEET. SI7E:
N.T.S. 2 of 3] Al
APPROVED: DATE: DWG NO: REV:




DO NOT SCALE

IF IN DOUBT - ASK!

Cut back outer sheath

- 25 mm

Strip blue & white /\ 1 PAIR SCREENED CABLE
wires 4 mm —_

=P
Eell —
//
Trim back foil and
May plug directly to PCB622 IR emitter PCA R EMITTER “J‘Osﬂff S|e‘e"vm%“ —
if lead extension isn't required.
Strip cable as shown both ends
TV AUDIO CONNECTION
ikt 3.81 mm pitch Screw Terminal Block REV 3+ UNITS
(45142) AUDIO TO CN1
White wire REV 1 & 2 UNITS PCB634
A Al AUDIO =~
NN TO J14 oo
Key tab =~ Key tab
B|Ude,SDroin White wires MOAMAAMA AT removed ililis removed
and Screen ClEEEEEEE 9 @@
wires ;pmq@ppm@_@ ,)Q;;
Slue wire and Lrain wire WRAP THE CABLE JOIN Cable tie for extra support =l=I=l=1=1= s
WITH INSULATION TAPE of the thin emitter wires
/ 2xT00R TV Headphone output 3.5 mm TV Headphone output 3.5 mm
) Signal Connection Tip > Signal Connection Tip
Slie e w il
IR Emitter Lead 4>/\\L Installed cable extension AV @lr%und S;inve AVAE Glr%und S;Q(i?ve This plug is used if
\ \ IR Emitter cable is

to be extended.

Plugs into CON9 of
IR Remote PCA622

Cable extension

. ‘ POWER TO J15
supplied by installer PCB226
Key tab
removed \

AN

1 PAIR SCREENED CABLE

Y Slslels
7/0.2 mm Conductors. =
Foil screen with drain wire.
Power input )
10 m Maximum cable extension (123_3\5) Vdc.) e
to the Emitter. max.
' Installed at TV « L
7 SO\ ) 5= G
Jo142

REV DATE CHANGE DESCRIPTION BY

0

1

(C) Copyright Jacques Technologies Pty Ltd. All rights reserved.
28-30 Bank Street, West End Q 4101
R EMITTER 2015-10-22 | FIRST RELEASE LFB 0» JA( :QUES S A ot oang o ENQ

2017-07-05 | DIMENSION 145, SHT 2, CORRECTED TO BE 290. LFB Future Proof Communications | www.jacques.com.au info@jacques.com.au
2017-07-12 | DRAWING TITLE CHANGED. SPEAKER CORRECTED PICTORIALLY (SHOULDN'T BE LOW PROFILE). TITLE UPDATED. LFB
INSIDE CLEARANCE FOR FLUSH MOUNTING CHANGED FROM 60 mm TO 70 mm. VSL-246RC/C1 6 Btn Panel w/ TV Remote
3 |2017-07-13 | PCB634 w/ AUDIO CONNECTION FITTED TO PCB226, MINI-SLAVE. WIRING DIAGRAM (AUDIO TO CN1, PCB634), MODIFIED. LFB : :
( ’ and Speaker Amp - Installation Details
4 |2018-04-03 | 'DRILL PLAIN HOLES IF RIVETING' ADDED TO MOUNTING HOLE NOTE IN 'FLUSH MOUNTING INTO PANEL' VIEW, SHEET 2. LFB
DRAWN: DATE: ADAPTED FROM: FILENAME:
5 |2019-10-31 | J1150 (POWER TO J15) SHOWN PLUGGED INTO PCB, SHEET 3. ISOMETRIC VIEW OF PANEL ADDED TO SHT 1. LFB
J0097 CHANGED TO J5142, SHEET 3. J5142 SHOWN FITTED TO IR EMITTER CABLE, SHEETS 1 & 3. LFB  2015-10-22 51520-INS | 51593-INS.dwg
NYLOC NUTS REMOVED FROM BELOW TWO 30 mm SPACERS THAT SUPPORTTHE EMITTER PCA. CHECKED: SATE. SCALE. SHEET. SI7E:
N.T.S. 3 of 3] Al

APPROVED: DATE: DWG NO: REV:

(©)2019 Jacques Technologies PTY LTD 51593-INS | 5




